2
x

=

\\\?{r

EZS

%iﬁﬂzﬁi*iﬁﬁﬁéiﬁﬁﬁglﬁai
(Z)-3-DR? | RKFF 2 bRTHRI-PRP ISP 33§

N SR SEEEE L PR BIPES SESL3 L EE £ - & S0

S
B e
CH AR LGRT N BRI L6 BT b
= sii‘.e_’h@’ﬁ@i A 17;.:,.‘5» Fﬁﬁﬁ » T3E > %‘fifggﬁq;% BRLE A
4L o
PR H >

- AR EEE KT RAE R KT R
= o APEBH LR RN
Z KRR RARATERA Y F

S ARE PRI T AR

VAR Y D 2 WgcEE e (http://wwwl. inservice. edu. tw/)

F ¢

YRR PEES Fet o

PR E R S R s AR Y BT B RER

BOLEEFES G LT R St o

AR A B S D F AR IAY 500 4 0 FEE G o
NS SN &

SV R X

-0 éﬁ%tﬁﬂ? A ﬁ;ﬁ—;é'% CHEA SBFEREAFIT T 45A 3/J~5‘é§i/};nsg3€%‘



oY
AR FE

BE Y P

PR~ Y AR

S ARFHITEREPER S B

Do TR

MY ER R AT R E SR AR P

f LT A R RS LR
+ 2L Google Meet

+ ! https://meet. google. com/ozp-aecet-agu

112 #8123 P (A8 =) 9:00-12:00(& &)

‘&L"V f;& —_
RIS E B9 407 F 2 55 B Bt e o
T_ll:]‘%—:lj ’ T_g_

%JV}‘ E,Iiii o

D AER R B o AR RyEA Bk TEARRAY )

1
A B Pt ) P st

EHERRBRRAE, 2 T2 Fad TR

RPET R o



CEED

EER 2 ERRY L 52 63T R

“RRP I T P ARYER R e

FAz
F\
s i ERE= RNV 2 10 ir
P R
08 : 40-09 = 00 S B ATk B
: . , 7 B A
09 : 10-10 - 40 AR ey LR
gﬁ\'fg NN _,__Eﬂ;
10 = 40-10 50 L N 275 B ¢
) ) ) 7 5 An
10 = 50-11 = 30 BOHE S A i R i A
LA
11 : 50-12:00 FY BE 27 24 2 Frig B¢




